
Fitting Instructions 

Mitsubishi ASX (01/10-on) 
 

T7C680 

• Towbar Class: Standard Duty 
• Towing Capacity: 1400kg 
 

• Fitment Instructions 
• Torque Settings 
• Warranty Info 

 

T7C680

Scan for latest 
version of these 
instructions 
 

 

PRODUCT PART NUMBER 

SPECIFICA-
TIONS 

IN THIS GUIDE 

SPECIFICATIONS IN THIS GUIDE 

SKU PRODUCT 



Towbar Fitting Instructions 

Call 1300 326 134 Version 23.01.2022 

Step-By-Step Instructions 
 
 
 

1. Remove tail lights from vehicle. 2x Screws per light. 

2. Remove rear bumper 
a. Remove rubber stop from inside boot area each side. 2x M5 each side. 
b. Remove additional M5 bolts from inside boot area. 2x each side. 

c. Remove screws and scrivets from wheel archs. 5x in total each side. 

d. Remove Scrivets from under bumper. 2x in total. 
e. Carefully remove bumper from vehicle. Use two people if required. 

3. Remove and discard impact beam. 6x Bolts in total 

4. Remove and discard shipping hook. 3x M10 bolts 

5. Lower the exhaust. 2x Rubber hangers 

6. Position towbar in place on vehicle. 

7. Loosely attach all fasteners to vehicle. 
a. 4x M10 long bolts with flat washer, 

spring washer and nuts. 

b. 4x M10 short bolts with flat washer 
and spring washer into captive 
nuts. 

8. Tighten all bolts to correct torque 
specifications. 

9. Refit exhaust on rubbers. 

10. Bumper cut may be required on some models. Check before refitting bumper. 

11. Refit bumper and taillights in the reverse order as above. 



 

 

TAG Warranty Statement 
SWD warrants your TAG Towbar for its full product life under the following conditions: 

• You can show proof of purchase. 
• The towbar has been correctly installed by a suitably qualified installer. 
• The towbar has not been modified or abused in any way and has only been used for the 

purpose  intended. 
• The towbar was not fitted second hand to your vehicle. 
The extent of this warranty includes materials and workmanship used in the manufacture of the 
towbar and is to the equivalent value of current, full replacement cost. 

Nothing stated or implied in this warranty limits in any way, the statutory rights that you may have. 

To make a claim visit the original installer in the first instance or, if you are unable to or are not 
satisfied with their help, then contact us direct by phone on 1300 669122 or visit www.swd.com.au 

 
 

 

 

 

Torque table for bolt tightening 
 

Metric GRADE 8.8 UNC GRADE 8 

M6 – 12.5 Nm 3/8 – 50 Nm 

M8 – 30 Nm 1/2  - 125 Nm  

M10 – 60 Nm 5/8 – 245 Nm 

M12 – 103 Nm 

M14 – 167 Nm 

M16 – 270 Nm 


